TBEERAr ¢ PR
HHIREH (D) 16

R

e =
G B TR A B (EMER)
B R EM (abs) 120

st PR H R

fREEHIA - 114/01/22 3B 8 SREDL

AChEIFR (%)

| et | Dl [ e —wm |
ORK | wEAK | SRIK | ImEK

1 | EOO BT 5

2 | #EOO A 4

3 | #OO BF 4

4 | EOO A 9

5 | BEEOO | HefHdez) 8

6 | OO fESAI 38 LS|
7 | &OO 3 5

8 | OO | #htrhi) 25

9 | FOO | ##HiH#i) 9

10 | BEOO L CGEHD 1

11 | BHOO Hita 3

12 | #OO HLE 6

13 | OO | BkaaEk) 10

14 | aO0O | FkCEKRE) 1

15 | BOO | FkExHE) 54 LS
16 | #OO ZN]IN 13

17 | #FOO0 HE: 4

18 | OO HE 6




#FOO = 10
BOO | ek 3

2200 | sronr 76 P

BOO | s 3
ROO FREER 25

KOO B 9

OO LTS &S 6

£OO0 | s 33

#H OO 3 3)

2:00 SHSE 19

$00 | % 10




42 | ®OO [EiS 3
43 | BROO | BROKH) 40 7B
44 | 2200 HHEEE] 2
45 | #&%OO HEeE 4
46 | FFOO B 11
47 | #wOO E[E52 7
48 | OO Elea 11
49 | BEOO EIN 59 7B
50 | #OO B 4
BrEE - TR e MREL

a1~ O EAEREEE R TAERA] , X T R EHIREE | WS R AR
2~ IR (%) = (HERHEBOLE —RmEROEE) + HIRETOLE x 100

AV

3~ AChEfIFI=AR A EAEAE R B 5 =X, -
) 0—34% (<34.5) & &1

(1
(2) 35—-44% (<44.5) DE®E iR e its - 0E R RETHEEEHHEE -
(3)45% (=z44.5) YEFE FILRGEHE - LEFFRAERAVER - ka4 R Rt

{EEAES: - IREmEEEHANREE AR E -
4~ AREEIRMIEEIR PRV () 5 PtERE (+) 3 &E5HE 1 E+98%R5 0% > 2ME+58F100%




